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1) $RCD (z,y) eRZICHLT, |z|+|y| <1 BSOS 2P+ |yl <1 TH3.

z,y) ERZICHLT, |22+ |yP<1h6E 2P+ |yP<1TH3,

r,y) ERZICHLT, a+y<1%61F224+9y2<1ThH53.
YERZIZHLT, 22+9y2<1 A6 2> +¢y2 <1 TH3.

() (1): HTH2, |z|+|y|<1 &b |z|<1, |y| <1DEYZODT,
2P+ ly PP =lz|-|z|+y] [yl <1-[z]+1-|y|=|z|[+]|y| <1

N A RVASR
(2): EHTH5. [zP+|yP<1 &0 2P <L [yP<1IBROIODT, (2| <1, |y| <12FoH0,

2P+ 1y =lal [aP+]yl lyP <1 |aP+1-JyP=]aP+ |y <1

DI D VLD,
(3): taTH2. x=1, y=—1,8lL, 24+y=0<1TH2H, 22+942=2>17Th53.
(4): HTH2. [zP+|yP=22+y* <1 &b, (2) 2ZHv2E 2P+ |yP <1 Tbh2. £,
z<lzl, y<|y| &9
a2y <|aP 4]yl <1
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